e 108 # REAKTEEFMBFIRBAMLE ER A KT BEY
LA
-~ R
PHD A RFERTRY w108 E#R1 70 -
- ~ P

(=) i MEFXAAEERERARERIFZ &7 HEFL NAFL2 KTIR
i MR A B Y ok o

() BAFFERPUEZFAAFRE Lm0 UREFREF -F4 - F&E 20 12

PR % o
o~ PHEIRH >
(=) 4 $HE = &7
(=) A97%H = Fl7 stfirsy &

(2) Agpd iz @1 4 % FAKT TR o (AP B
(2) B73H =D 1V HD 3 BHAKT TR (IR

e YRR 10811 6p (%P ) F=9:002 16:10

I YRR PR PRRAPR)FS A BRRKE (PR AR L
R 14 %5)
Ao Bt R D AR 120 4 o 4F LEEA T 0 AP A A 40T
(=) &3 2P}~ 2F ¢ 2 op 22 aFk (108) £ REmAF2 HK L
LRIl B 4R o
(=) *% 37 2 FY | oK o
SR LN i F AN AR 108 &1 2P (BH )W p AL 2REERKT
73 4 (https://special. moe. gov. tw/study. php) —#= % 4F &Rt 5k
HFT - -8 E(0D)-FH (P )EEE (LR D & o
NN E R R SR E - [PV SeRA] 2SR P 6
X;ﬁ” B:l_;ﬁi:
LY EF A2 FRER GERBREZHETY P THRER

A Iﬁfﬁ:*}:g N ) {é:]‘f‘é-j‘g ifl':‘ o
N N 1 LS RO BN ) P S S R R R

Lo KPR
(=) Ef %R 2P EET I PFD SRR T h BT ERARS -
<:> l’g‘_?”}aﬁ_ﬁr {ir"‘Tl—__ o



IR S
i+p 2
Lo~ AFEY

H”Aﬁpngﬂ/ﬂ'}'\lf)»
BRI B F AT -
Bh BRI TR SR



¥t [ -

Y et )

FES 1B ERABFAKRTEEEMERBAMEEL AR R4 BAY

FAr i
[ 10812 6p(Pp) ]
P
e Y R A A I =
8:30—8: 50 3R 3| A4 B~ F K EE= ST
: : ‘ K kb FRP
: —0: 4;?}':;(\
8:50—9:00 B HRiE el £
a0 1 - Hii7 2 Bmsg 4 grie s IR TN T
020071090 ¥R 1L e
10 - 30-10 - 40 (5 S L S B 15
1o - AP PR A arLs gy e 2R S IISRT
10 - 40-12 - 10 W R T
12 :10-13 : 00 B T QLE= < 1]}
: : BV mE-FTRBEEFN BRYE ER ALISE. PRSP
13 . 00_14 . 30 4 mI’T e&ké Sl l”%#%ﬁ\“x :‘L fg; v '\;If!‘léa;
14 : 30-14 - 40 (5 S LR Sdl 1)<
2 ¢ NN /\—" 3
14 :40-16 : 10 7R RF 2 ilpr & (743 {0k E'ﬁ s
3R PO TEER
16:10~ R B T LE=S g5




